
 

4203/(Set : C)   P. T. O. 

CLASS : 10th (Secondary) Code No. 4203 
Series : Sec. M/2019 
Roll No. 

xf.krxf.krxf.krxf.kr    
MATHEMATICS 

(Academic/Open) 

[ fgUnh ,oa vaxzsth ek/;e ] 
[ Hindi and English Medium ] 

(Only for Fresh/Re-appear Candidates) 

le; % 3 ?k.Vs ]    [ iw.kkZad % 80 

Time allowed : 3 hours ] [ Maximum Marks : 80 

• Ñi;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 15 rFkk   
iz'u 32 gSaA  
Please make sure that the printed pages in this 
question paper are 15 in number and it contains 
32 questions. 

• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcj dksM uEcj dksM uEcj dksM uEcj rFkk lsV lsV lsV lsV dks 
Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 
The Code No. and Set on the right side of the 
question paper should be written by the candidate 
on the front page of the answer-book. 

• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 
Before beginning to answer a question, its Serial 
Number must be written. 

SET : C 
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 ( 2 ) 4203/(Set : C) 

4203/(Set : C) 

• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 
Don’t leave blank page/pages in your answer-book. 

• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 
Except answer-book, no extra sheet will be given. 
Write to the point and do not strike the written 
answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 
Candidates must write their Roll Number on the 
question paper.    

• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA    

  Before answering the questions, ensure that you 
have been supplied the correct and complete 
question paper, no claim in this regard, will be 
entertained after examination.  

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instruction : 

    (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

        All questions are compulsory. 

 (ii) bl iz'u-i= esa dqy 32 iz'u gSa tks fd pkjpkjpkjpkj [k.Mksa v] v] v] v] 
c] lc] lc] lc] l vkSj nnnn esa ck¡Vs x;s gSa % 

  This question paper consists of 32 questions 

in all which are divided into four Sections : 

A, B, C and D : 
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 ( 3 ) 4203/(Set : C) 

4203/(Set : C)  P. T. O. 

  [k.M v %[k.M v %[k.M v %[k.M v %    bl [k.M esa 1 ls 16 rd dqy 16 iz'u gSa] 
izR;sd iz'u 1 vad dk gSA  

  Section A : There are 16 questions from 1 

to 16, each of 1 mark. 

  [k.M c %[k.M c %[k.M c %[k.M c %    bl [k.M esa 17 ls 21 rd dqy 5 iz'u gSa] 
izR;sd iz'u 3 vad dk gSA 

  Section B : There are 5 questions from 17 

to 21, each of 3 marks. 

  [k.M [k.M [k.M [k.M llll    %%%%    bl [k.M esa 22 ls 27 rd dqy 6 iz'u gSa] 
izR;sd iz'u 4 vad dk gSA 

  Section C : There are 6 questions from 22 

to 27, each of 4 marks. 

  [k.M n %[k.M n %[k.M n %[k.M n %    bl [k.M esa 28 ls 32 rd dqy 5 iz'u gSa] 
izR;sd iz'u 5 vad dk gSA 

  Section D : There are 5 questions from 28 

to 32, each of 5 marks. 

 (iii) [k.M n[k.M n[k.M n[k.M n esa nksnksnksnks iz'uksa esa vkUrfjd fodYi fn;s x;s gSaA 
mlesa ls ,d,d,d,d iz'u dks pquuk gSA 

  Section D contains two questions where 

internal choice have been provided. You 

have to choose one of them. 
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 ( 4 ) 4203/(Set : C) 

4203/(Set : C) 

[k.M & v[k.M & v[k.M & v[k.M & v    

SECTION – A 

  1. 0.15 dks 
q

p  ds :i esa O;Dr dhft,A  1 

 Express 0.15 in the form 
q

p
.  

  2. f}?kkr cgqin 822
−− xx  ds 'kwU;dksa dk ;ksx Kkr dhft,A 1 

 Find the sum of zeroes of quadratic polynomial 

822
−− xx .  

  3. lehdj.kksa 33 =− yx  vkSj 939 =− yx  ls x vkSj y dk 
eku gS % 1 

 (A) ,d gy  

 (B) dksbZ gy ugha  

 (C) vuUr gy  

 (D) buesa ls dksbZ ugha  

 The values of x and y from the equations 

33 =− yx  and 939 =− yx  are :   

 (A) one solution  

 (B) no solution 

 (C) infinite number of solutions 

 (D) None of these  
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 ( 5 ) 4203/(Set : C) 

4203/(Set : C)  P. T. O. 

  4. 2, 7, 12, ……….. A. P. dk 10ok¡ in gS % 1 

 (A) 45  (B) 43 

 (C) 47  (D) buesa ls dksbZ ugha  

 10th term of the A.P. : 2, 7, 12, ……….. is : 

 (A) 45  (B) 43 

 (C) 47  (D) None of these  

  5. 
3

13
,

3

9
,

3

5
,

3

1
, ……………. A.P. dk lkoZ-vUrj Kkr 

dhft,A 1 

 Find the common difference of the A.P. : ,
3

5
,

3

1
 

3

13
,

3

9
, ……………. .  

  6. dks"Bd esa fn, 'kCnksa esa ls lgh 'kCnksa dk iz;ksx djrs gq,] fjDr 
LFkku dks Hkfj, % 1 

 lHkh ………… f=Hkqt le:i gksrs gSaA  ¼lef}ckgq] leckgq½ 

 Fill in the blank using the correct word given in 

bracket :  

 All ……….. triangles are similar.  

   (isosceles, equilateral) 
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 ( 6 ) 4203/(Set : C) 
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  7. f=Hkqt ABC vkSj DEF le:i gSaA ;fn ∆ABC dk    
{ks=Qy = 16 cm2, ∆DEF dk {ks=Qy = 25 cm2 vkSj   
BC = 2.3 cm, rks EF gS % 1 

 (A) 2.875 cm (B) 2.758 cm 

 (C) 2.578 cm (D) buesa ls dksbZ ugha  

 Triangles ABC and DEF are similar. If area of 

∆ABC = 16 cm2, area of ∆DEF = 25 cm2 and    

BC = 2.3 cm, then EF is :  

 (A) 2.875 cm (B) 2.758 cm 

 (C) 2.578 cm (D) None of these  

  8. ;fn ,d fcUnq P ls O dsUnz okys fdlh o`Ùk ij PA, PB Li'kZ 
js[kk,¡ ijLij 80° ds dks.k ij >qdh gksa] rks ∠POA cjkcj  
gS %  1 

 (A) 80°  (B) 50° 

 (C) 40°  (D) 70° 

 If tangents PA and PB from a point P to a circle 

with centre O are inclined to each other at an 

angle of 80°, then ∠POA is : 

 (A) 80°  (B) 50° 

 (C) 40°  (D) 70° 
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 ( 7 ) 4203/(Set : C) 

4203/(Set : C)  P. T. O. 

  9. fjDr LFkku dh iwfrZ dhft, % 1 

 ,d o`Ùk dh …………. lekUrj Li'kZ js[kk,¡ gks ldrh gSaA  

 Fill in the blank : 

 A circle can have …………. parallel tangents at 

the most.   

10. (4, 7) vkSj (10, –1) fcUnqvksa ds chp dh nwjh Kkr dhft,A 1 

 Find the distance between the points (4, 7) and 
(10, –1).  

11. (4, 7) vkSj (2, 3) fcUnqvksa dks feykus okyh js[kk dk e/; fcUnq 
Kkr dhft,A 1 

 Find the mid point of the line joining the points 

(4, 7) and (2, 3).  

12. cos 48° – sin 42° dk eku Kkr dhft,A 1 

 Evaluate : cos 48° – sin 42° 

13. ∆ABC esa] ftldk dks.k B ledks.k gS] AB = 24 cm vkSj 
BC = 7 cm gSA sin C dk eku gS % 1 

 (A) 
25

24
   

 (B) 
25

7
 

 (C) 
24

7
   

 (D) buesa ls dksbZ ugha  
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 ( 8 ) 4203/(Set : C) 

4203/(Set : C) 

 In ∆ABC, right-angled at B, AB = 24 cm, BC = 7 cm. 
The value of sin C is :  

 (A) 
25

24
   

 (B) 
25

7
 

 (C) 
24

7
    

 (D) None of these  

14. 21 cm f=T;k okys ,d òÙk dk ,d pki dsUnz ij 60° dk dks.k 
varfjr djrk gSA pki dh yEckbZ Kkr dhft,A 1 

 In a circle of radius 21 cm, an arc subtends an 

angle of 60° at the centre. Find the length of arc. 

15. ?kukHk] ftldh yEckbZ] pkSM+kbZ vkSj Å¡pkbZ Øe'k% 10 m, 8 m 
vkSj 5 m dk vk;ru gS % 1 

 (A) 400 m3 (B) 200 m3 

 (C) 300 m3 (D) buesa ls dksbZ ugha  

 The volume of the cuboid, whose length, breadth 

and height are 10 m, 8 m and 5 m respectively   

is : 

 (A) 400 m3 (B) 200 m3 

 (C) 300 m3 (D) None of these 
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 ( 9 ) 4203/(Set : C) 

4203/(Set : C)  P. T. O. 

16. nks iklksa dks ,d lkFk Qsadk tkrk gSA nksuksa iklksa dh la[;kvksa dk 

;ksx 12 ls NksVh ;k mlds cjkcj gksus dh izkf;drk Kkr 

dhft,A  1 

 Two dice are thrown at the same time. Find the 

probability of getting the sum on the dice is less 

than or equal to 12.  

[k.M [k.M [k.M [k.M &&&&    cccc    

SECTION – B 

17. fl) dhft, fd 5  ,d vifjes; la[;k gSA  3 

    Prove that 5  is irrational.  

18. cgqin 65)( 4
+−= xxxp  dks cgqin 2)( 2

−= xxg  ls Hkkx 
dhft,A HkkxQy rFkk 'ks"kQy Kkr dhft,A   3 

 Divide the polynomial 65)( 4
+−= xxxp  by the 

polynomial 2)( 2
−= xxg . Find the quotient and 

remainder.   

19. ,d O;fDr 10 m iwoZ fn'kk esa pyrk gS vkSj fQj 30 m mÙkj 
fn'kk dh vksj pyrk gSA izkjafHkd fcUnq ls nwjh Kkr dhft,A  3 

 A person goes 10 m due east and then 30 m due 

north. Find the distance from the starting point.  
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 ( 10 ) 4203/(Set : C) 
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20. ;fn 
2

1
)sin( =−BA , 

2

1
)cos( =+BA , 0° < A + B ≤ 90°, 

A > B] rks A vkSj B Kkr dhft,A  3 

 If 
2

1
)sin( =−BA , 

2

1
)cos( =+BA , 0° < A + B ≤ 90°,  

A > B, find A and B.  

21. v/kZ-o`Ùkkdkj fMtkbu ds VqdM+s dh ifjf/k 72 cm gSA bldk 

{ks=Qy Kkr dhft,A  3 

 The circumference of semi-circular piece of 

design is 72 cm. Find its area.  

[k.M & l[k.M & l[k.M & l[k.M & l    

SECTION – C 

22. gy dhft, % 4 

8
2

11
;1

1

2

1
=+−=−

yxyx
 

 Solve :  

8
2

11
;1

1

2

1
=+−=−

yxyx
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 ( 11 ) 4203/(Set : C) 

4203/(Set : C)  P. T. O. 

23. iw.kZ oxZ cukus dh fof/k ls f}?kkr lehdj.k 0372 2
=+− xx  

ds ewy Kkr dhft,A  4 

 Find the roots of quadratic equation 0372 2
=+− xx  

by the method of completing the square.  

24. 0 vkSj 50 ds chp fo"ke la[;kvksa dk ;ksx Kkr dhft,A 4 

 Find the sum of the odd numbers between 0 and 

50.  

25. 4 cm, 5 cm vkSj 6 cm Hkqtkvksa okys ,d f=Hkqt dh jpuk 

dhft, vkSj fQj blds le:i ,d vU; f=Hkqt dh jpuk 

dhft,] ftldh Hkqtk,¡ fn, gq, f=Hkqt dh laxr Hkqtkvksa dh 
3

2  

xquh gksaA 4 

 Construct a triangle of sides 4 cm, 5 cm and      

6 cm and then a triangle similar to it whose 

sides are 
3

2
 of the corresponding sides of the 

first triangle.   
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 ( 12 ) 4203/(Set : C) 

4203/(Set : C) 

26. fcUnqvksa (5, –6) vkSj (–1, –4) dks tksM+us okys js[kk[k.M dks 
y-v{k fdl vuqikr esa foHkkftr djrh gS \  4 

 Find the ratio in which the y-axis divides the line 
segment joining the points (5, –6) and (–1, –4). 

Also find the point of intersection.  

27. ,d ikls dks ,d ckj Qsadk tkrk gSA fuEufyf[kr dks izkIr djus 
dh izkf;drk Kkr dhft, % 4 

 A die is thrown once. Find the probability of 
getting : 

 (i) ,d vHkkT; la[;k]  

  a prime number,  

 (ii) 2 vkSj 6 ds chp fLFkr dksbZ la[;k] 

  a number lying between 2 and 6,  

 (iii) ,d fo"ke la[;kA   

  an odd number.  

[k.M & n[k.M & n[k.M & n[k.M & n    

SECTION – D 

28. ,d jsyxkM+h ,dleku pky ls 360 km nwjh r; djrh gSA 
;fn ;g pky 5 km/h vf/kd gksrh] rks og mlh ;k=k esa 1 
?kaVk de le; ysrhA jsyxkM+h dh pky Kkr dhft,A   5 

 A train travels 360 km at a uniform speed. If the 

speed had been 5 km/h more, it would have 

taken 1 hour less for same journey. Find the 

speed of the train.   
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 ( 13 ) 4203/(Set : C) 

4203/(Set : C)  P. T. O. 

29. 3.5 cm f=T;k ds o`Ùk ij blds dsUnz ls 6 cm dh nwjh ij 
P fcUnq ls nks Li'kZ js[kkvksa dh jpuk dhft,A bu Li'kZ js[kkvksa 
dh yEckbZ ekfi,A 5 

 Construct two tangents to a circle of radius 3.5 cm 

from a point P at a distance of 6 cm from its 
centre. Measure the lengths of these tangents.  

30. vk¡/kh vkus ls ,d isM+ VwV tkrk gS vkSj VwVk gqvk Hkkx bl 
rjg eqM+ tkrk gS fd isM+ dk f'k[kj tehu dks Nwus yxrk gS 
vkSj blds lkFk 30° dk dks.k cukrk gSA isM+ ds ikn-fcUnq dh 
nwjh] tgk¡ isM+ dk f'k[kj tehu dks Nwrk gS] 8 m gSA isM+ dh 
Å¡pkbZ Kkr dhft,A   5 

 A tree breaks due to storm and the broken part 
bends so that the top of the tree touches the 

ground making an angle 30° with it. The 
distance between the foot of the tree to the point 
where the top touches the ground is 8 m. Find 
the height of the tree.   

vFkokvFkokvFkokvFkok    

OR 

 fl) dhft, % 5 

1eccos

1eccos

coscot

coscot

+

−
=

+

−

A

A

AA

AA
 

 Prove that :  

1eccos

1eccos

coscot

coscot

+

−
=

+

−

A

A

AA

AA
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31. 7 cm Hkqtk okys ,d ?kukdkj CykWd ds Åij ,d v/kZxksyk j[kk 
gqvk gSA v/kZxksys dk vf/kdre O;kl D;k gks ldrk gS \ bl 
izdkj cus Bksl dk i`"Bh; {ks=Qy Kkr dhft,A 5 

 A cubical block of side 7 cm is surmounted by a 

hemisphere. What is the greatest diameter the 
hemisphere can have ? Find the surface area of 

solid.   

32. fuEufyf[kr ckjackjrk caVu dk ek/; Kkr dhft, % 5 

oxZoxZoxZoxZ-vUrjkvUrjkvUrjkvUrjkyyyy    50-52 53-55 56-58 59-61 62-64 

ckjackjrkckjackjrkckjackjrkckjackjrk    15 110 135 115 25 

 Find the mean of the following frequency 
distribution : 

Class-Interval    50-52 53-55 56-58 59-61 62-64 

Frequency    15 110 135 115 25 

vFkokvFkokvFkokvFkok    

OR 

 ;fn uhps fn, caVu dh ef/;dk dk 28.5 gS] rks dqy 60 
la[;kvksa esa x vkSj y dk eku Kkr dhft, % 5 

oxZoxZoxZoxZ-vUrjkyvUrjkyvUrjkyvUrjky    ckjackjrkckjackjrkckjackjrkckjackjrk    
0-10 

10-20 

20-30 

30-40 

40-50 

50-60 

5 

x 

20 

15 

y 

5 
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 ( 15 ) 4203/(Set : C) 

4203/(Set : C)  P. T. O. 

 If the median of the distribution given below is 
28.5, find the value of x and y of total number is 

60 : 

Class-Interval Frequency 

0-10 

10-20 

20-30 

30-40 

40-50 

50-60 

5 

x 

20 

15 

y 

5 
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